@ {a} Expand{z + B Hance expaad {3x— = Sopiifvioe each ermof Seerpesice. 5]
th} The coefficient of x> In the expansion of {1 + 2x)° i 40, Given that 5 & 2 positive nrteger,
find the valus of n. 21
June 06
@ {a) Expand (g +b), simplifying your coefficients as much as possible. 2
(b} Solve 2 +x)*=14+ 35x+25x%+ 8x° +2% 4]
Jan 07 ' 3
. E
@ {a) Expand{a+ b)’. Hence find the coefficient of x {n the expansion of (x+75i-_-) . [£]
{b) The coefficient of x~ in the expansion of {1 + x)" is 36. Given that n is a positive infeger,
find the vahie of 7. i3]
June 07

@ {a) Expand{a+by. 2]
@) () Waite down the first four ferms in the expansion of ( 1+ %] in ascending powers of &
=t

(i) By substitsting an appropriate vatue for x in (i), find an approcimate valve for 1-05°.

Show all vour working and give vour answer correct fo three decimal places, 53
Jan 08
@ Use the binomial theorem to expand (5 + B, simplifying each wron of your expension. i3]

June 08
@) (a) Expand(a+by. ‘ e

: F 3
{0} Use your answer to part (s} 1o find the coefficient of X in the expansion of (% + 2.1') .
£

Simplify vour answer, 121
Jan 09
B e . .
@ (@) Expand ( I+ i—} , stmplifying each term of the expansion. 43
{b) The coefficient of x? in the expansion of ( + x)° is 55, Given that » Is a positive integer,
find the value of n, {3
June 09 |
@ In the binomial expansion of (g + 3x)°, the coefficient of the temm in x7 is eight times the
coefficient of the term in x. Find the value of the constunt &, 4]

Jan 10




